D1vISION WITH A REMAINDER II (H - SET 4)

CHALLENGE Name:
Time: Score: [
661) 40495 =4 = 676) 19562 + 2 =
662) 28771 +9 = 671 1736 + 1 =
663) 46465 + 7 = 675) 13928 = 11 =
664) 53985 + 11 = 679) 51010 + 6 =
665 64215 + 8 = 600 10273 +1 =
606) 41727 -4 = 6s1) 139 +1 =
667) 4174 + 9 = 652) 35924 + 3 =
668) 52703 + 7 = 6s3) 10653 + 6 =
669) 81653 + 7 = 6s1) 5868 + 10 =
670) 42867 = 8 = 6s5) 50221 + 5 =
671 22603 + 2 = 6s6) 33424 =12 =
672) 34741 =8 = 67 7876 + 1 =
673) 72842 + 12 = 6s5) 70840 + 9 =
670 109456 + 12 = 6s0) 40794 =7 =
675 1691 =— 1 = 690) 41840 =5 =
Mathematies: Division - Level § - Horigontal - Set 4 24 s


https://www.workulum.com

